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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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P3-2

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

08:35 273 150. 0 2.583 E  1BRi&%e08:35 Bai (RAERE)
09:20 273 150.0 2.583 F[ BRi%e09:20 BE1 (RAERE)
10:05 273 150.0 2.583 =l {Ri%@10:05 B3 (RAAERSE)
11:00 273 150. 0 2.583 E BRige11:00 Bz (GRAERESE)
12:05 273 150. 0 2.583 S {Ri%e12:05 Bz (GRAERSE)
12:50 273 150.0 2.583 =l RRiB012:50 Bz (RFAKEE)
13:30 273 150.0 2.583 (Z=| {Ri%e13:30 Bz (REAERSE)
14:10 273 150. 0 2.583 |Z=| Bige14:10 B CGRAERE)
14:50 273 150.0 2.583 |Z=| {Ri&e14:50 B (REEZEBE)
15:35 273 150.0 2.583 (Z=| {Ri%@15:35 Bz (REAEHSE)
16:30 273 150.0 2.583 (£=| {Ri%e16:30 B3 (RAEZSE)
23t 3003.0 (11)%) 1650. 0 3EHKEC: 2080.0, PH: 6.0

R GERRETC (600) 57EA (278. 0) 1N, Al REH T % AREERS %2 X ER
2RI\ L PRIERE324. 0 ml.
#[EKECE (1907.0 vs 3153.0) 5
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P3-2

BYE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R
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21| 819.0 (3%) 450. 0 3203 %EC: 2080.0, PH: 6.0

##[EKECE (2007.0 vs 3390.0) d 5
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P3-2

BrE) | GEBERTIC (B)) | EBE (EAH/#F) | EREE (B/R) | X8 R

06:55 278 150.0 2.583 FA| {Ri%@06:55 Bz (RkAMEEE)
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11:20 278 150.0 2.583 PA| {Ri%e11:20 Bz (GRAEEE)
Bt 1112.0 4k) 600.0 FEWHKEC: 2080.0, PH: 6.0

##[EKECE (2087.0 vs 3563.0) d 5
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